oo = == == ==[1[]

00000000112-1130560 00 0 00000000MOVROOOOODODOO
0oQ

0oO@oooo)

ooo:

000 : 2023/10/6 13:57:50

oooo

OO0000000D0011208020 0000 011200743650 0000
OO0000000DOOOoOgoOoscOogoooogooowooooooooooooooooooo
(O)H)OOOooOOooDoOoOoUoDOoOoOoOoDoDoOOoOoOooDooOoOo11z-13Odseo0gooooooood
oO0oooogooooogd

(0)HOODOODO0DO1120 100 110 (O )13:00~16:300
(OHoOooOooOoUooOOobhoooUooDOo-0obo(@UubOoOoboOobosg2oo)o
(0)HOODDOOO0OODOODOODOhttps://wwwé.inservice.edu.tw/index2-3.aspx DO 0000
40734780 000000000 ODOODOOOhttps://drp.tyc.edu.tw/TYDRP/Index.aspx 0O 00O
0 0 O 0 E00122-231000001

00000000000 0o0oooooooooo0oDoooooooO (o)oooo
oooooooooboOooOoooOooOoOoooOoOoOoboooOoDoOOoUooDoOoOooDboOoOooDo
ooooooo

oooooooooo

http://163.30.202.2 2024/5/15 5:18:29 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

